ON THE DIOPHANTINE EQUATION $(2^x - 1)(p^y - 1) = 2z^2$

RUIZHOU TONG, Chaoyang

Received February 11, 2020. Published online March 6, 2021.

Abstract. Let p be an odd prime. By using the elementary methods we prove that: (1) if $2 \nmid x$, $p \equiv \pm 3 \pmod{8}$, the Diophantine equation $(2^x - 1)(p^y - 1) = 2z^2$ has no positive integer solution except when p = 3 or p is of the form $p = 2a_0^2 + 1$, where $a_0 > 1$ is an odd positive integer. (2) if $2 \nmid x$, $2 \mid y$, $y \neq 2, 4$, then the Diophantine equation $(2^x - 1)(p^y - 1) = 2z^2$ has no positive integer solution.

Keywords: elementary method; Diophantine equation; positive integer solution

MSC 2020: 11B39, 11D61

1. INTRODUCTION TO MAIN RESULTS

In 2000, Szalay in [10] proved that the Diophantine equation $(2^n - 1)(3^n - 1) = x^2$ has no positive integer solution, and Walsh in [13] proved that the Diophantine equation $(2^n - 1)(3^m - 1) = x^2$ has no positive integer solution. The Diophantine equations $(a^n - 1)(b^n - 1) = x^2$ and $(a^m - 1)(b^n - 1) = x^2$ are studied in [3], [4], [5], [6], [7], [9], [11], [14] and important results are obtained. In this paper, we further generalize these results by studying the equation

(1.1)
$$(2^x - 1)(p^y - 1) = 2z^2, \quad p > 0.$$

We partly solve the situation with $2 \nmid x$ and the following results are proved:

Theorem 1.1. Let p be an odd prime. When $2 \nmid x, p \equiv \pm 3 \pmod{8}$, the Diophantine equation (1.1) has no positive integer solution except that when p = 3 it

DOI: 10.21136/CMJ.2021.0057-20

The research has been supported by Guizhou Provincial Science and Technology Foundation (Grant No. QIANKEHEJICHU[2019]1221) and the National Natural Science Foundation of China (Grant No. 11261060)

has only positive integer solutions x = 1, y = 5, z = 11; x = 1, y = 2, z = 2; x = 1, y = 1, z = 1; and when $p = 2a_0^2 + 1$ it has only the positive integer solution x = 1, y = 1, $z = a_0$ with $2 \nmid a_0 > 1$.

Theorem 1.2. Let p be an odd prime. When $2 \nmid x, 2 \mid y, y \neq 2, 4$, the Diophantine equation (1.1) has no positive integer solution.

2. Lemmas

In order to prove main results in this paper, we first state the following lemmas.

Lemma 2.1 ([12]). The Diophantine equation $x^3 - 1 = 2y^2$ has only the integer solution (x, y) = (1, 0).

Lemma 2.2 ([1]). The Diophantine equation

$$x^p - 1 = 2y^2$$
, p is a prime, $p > 3$

has only the positive integer solution p = 5, x = 3, y = 11.

Lemma 2.3 ([8]). Let D be a non-square number, with the Pell equation

(2.1)
$$x^2 - Dy^2 = 1, \quad (x, y) = 1, \quad D > 0.$$

Let x > 0, y > 0 be a solution of equation (2.1), and $\varepsilon = x_0 + y_0 \sqrt{D}$ be a fundamental solution of equation (2.1). If $x \mid^* x_0$ (x_0 is divisible by every prime factor of x), then $x + y\sqrt{D} = \varepsilon$.

Lemma 2.4 ([2]). The Diophantine equation $x^4 - 2y^2 = 1$ has only integer solutions $x = \pm 1, y = 0$.

Lemma 2.5. The Diophantine equation

(2.2)
$$a^y - 1 = 2z^2, \quad y \neq 2$$

has only the positive integer solutions a = 3, y = 5, z = 11 and $a = 2a_0^2 + 1$, y = 1, $z = a_0$.

690

Proof. If $4 \mid y$, from (2.2), we have $(a^{y/4})^4 - 2z^2 = 1$, by Lemma 2.4, equation (2.2) has only integer solutions $a^{y/4} = \pm 1$, z = 0, which contradicts z > 0, therefore $4 \nmid y$. If $2 \mid y$, let $y = 2y_1$, then $2 \nmid y_1$. If $y_1 > 1$, then there exists an odd prime p, such that $p \mid y_1$, let $y_1 = py_2$; then from (2.2), we have

$$(a^{2y_2})^p - 1 = 2z^2$$

If p = 3, from Lemma 2.1, the above equation has only integer solution $(a^{2y_2}, z) = (1, 0)$, which contradicts z > 0. If p > 3, from Lemma 2.2, the above equation has only the positive integer solution p = 5, $a^{2y_2} = 3$, z = 11, which is obviously impossible. Therefore $y_1 = 1$, that is y = 2, which contradicts $y \neq 2$.

If $2 \nmid y, y > 1$, then there exists an odd prime p, such that $p \mid y$, let $y = py_1$; then from (2.2), we have

$$(a^{y_1})^p - 1 = 2z^2$$

If p = 3, from Lemma 2.1, the above equation has only the integer solution $(a^{y_1}, z) = (1, 0)$, which contradicts z > 0. If p > 3, from Lemma 2.2, the above equation has only the positive integer solution p = 5, $a^{y_1} = 3$, z = 11, and so a = 3, $y_1 = 1$, $y = py_1 = 5$, and equation (2.2) has only the positive integer solution a = 3, y = 5, z = 11.

If y = 1, then $a = 2a_0^2 + 1$, $z = a_0$; here equation (2.2) has only positive integer solution $(a, y, z) = (2a_0^2 + 1, 1, a_0)$.

Lemma 2.6 ([2]). The Diophantine equation $x^4 - 2y^2 = -1$ has only the integer solutions $x = \pm 1$, $y = \pm 1$.

Lemma 2.7 ([2]). Let p be an odd prime. If the Diophantine equation $x^p + 1 = 2y^2$ has a positive integer solution, then $2p \mid y$ is true except that it has the positive integer solution (x, y) = (1, 1) and when p = 3 it has only positive integer solutions (x, y) = (1, 1), (23, 78).

3. Proof of the theorems

Proof of the Theorem 1.1. We prove our result in two situations.

(I) The case of $2 \nmid z$. Since $2 \nmid z$, therefore $2 \nmid y$. In fact, if $2 \mid y$, from (1.1), we have $2z^2 \equiv 0 \pmod{8}$, then $2 \mid z$, which contradicts $2 \nmid z$, therefore $2 \nmid y$. If $p \equiv -3 \pmod{8}$, from equation (1.1), we have $2z^2 \equiv (2^x - 1)(p - 1) \equiv 4(2^x - 1) \pmod{8}$, and so $z^2 \equiv 2(2^x - 1) \pmod{4}$, which contradicts $2 \nmid z$. If $p \equiv 3 \pmod{8}$, from equation (1.1), we have $2z^2 \equiv (2^x - 1) \pmod{8}$, and so

 $z^2 \equiv 2^x - 1 \pmod{4}$. If $x \ge 2$, then $z^2 \equiv -1 \pmod{4}$, we have a contradiction; therefore x = 1. Here from equation (1.1), we have

$$p^y - 1 = 2z^2, \quad p \equiv 3 \pmod{8}.$$

From Lemma 2.5, the above equation has only the positive integer solutions p = 3, y = 5, z = 11 and $p = 2a_0^2 + 1$, y = 1, $z = a_0$, $2 \nmid a_0$; that is equation (1.1) has only the positive integer solutions p = 3, x = 1, y = 5, z = 11 and $p = 2a_0^2 + 1$, x = 1, y = 1, $z = a_0$, $2 \nmid a_0$.

(II) The case of $2 \mid z$. Since $2 \mid z$, therefore $2 \mid y$. In fact, if $2 \nmid y$, from (1.1), we have $2z^2 \equiv (2^x - 1)(\pm 3 - 1) \pmod{8}$, and so $z^2 \equiv 2^x - 1$, $2(2^x - 1) \equiv \pm 1$, 2 (mod 4), which contradicts $2 \mid z$; therefore $2 \mid y$. Assume $(2^x - 1, p^y - 1) = d$, then from equation (1.1), we have

(3.1)
$$\begin{cases} 2^x - 1 = ds^2, \\ p^y - 1 = 2dt^2, \\ z = dst, \end{cases}$$

where $(s, t) = 1, 2 \nmid s, 2 \nmid d$.

From the assumption of $2 \nmid x$, again from the first equation in (3.1), we have $2(2^{(x-1)/2})^2 - 1 = ds^2$, and it is converted into

(3.2)
$$(2(2^{(x-1)/2})^2 + ds^2)^2 - 2d(2^{(x+1)/2}s)^2 = 1.$$

Let the Pell equation be

$$X^2 - 2dY^2 = 1, \quad (X, Y) = 1.$$

We assume that $\varepsilon_{2d} = T + U\sqrt{2d}$ is a fundamental solution of the above equation, then all positive integer solutions of the above equation are $X_k + Y_k\sqrt{2d} = (T + U\sqrt{2d})^k$, $k \ge 0$. Therefore from equation (3.2) and second equation in (3.1), we obtain the simultaneous equations

(3.3)
$$\begin{cases} 2(2^{(x-1)/2})^2 + ds^2 + (2^{(x+1)/2}s)\sqrt{2d} = X_r + Y_r\sqrt{2d}, \\ p^{y/2} + t\sqrt{2d} = X_l + Y_l\sqrt{2d}. \end{cases}$$

From the second equality in (3.3), if l = 2h, then $p^{y/2} = X_{2h} = 2X_h^2 - 1$, and so

(3.4)
$$p^{y/2} = 2X_h^2 - 1.$$

Hence, from (3.4), we have

$$1 = \left(\frac{1}{p}\right) = \left(\frac{2X_h^2 - p^{y/2}}{p}\right) = \left(\frac{2X_h^2}{p}\right) = -1,$$

692

which is impossible. Therefore $2 \nmid l$. Let l = 2h + 1; then $p^{y/2} = X_{2h+1}$. Since $X_1 \mid X_{2h+1}$, hence $T \mid p^{y/2}$. Since p is an odd prime, if T = 1, then t = 0, and so z = 0, it is not positive integer solution. Hence T > 1, and so $T = p^{T_0}, T_0 \ge 1$. From Lemma (2.3), the second equality in (3.3) has only the positive integer solution $(p^{y/2}, t) = (p^{T_0}, U)$, and so the second equation in (3.1) has only the positive integer solution (y, t) = ($2T_0, U$).

From the first equality in (3.3), it follows that X_r is an odd number. Now, if r = 2h, then $X_r = 2X_h^2 - 1$ and $2^{(x+1)/2}s = Y_r = 2X_hY_h$, since $2 \nmid X_h$, $(X_h, Y_h) = 1$, hence $X_h = b_1$, $Y_h = 2^{(x-1)/2}b_2$, $(b_1, b_2) = 1, 2 \nmid b_1$. Therefore we have

$$(3.5) X_r = 2b_1^2 - 1.$$

From the first equation in (3.1), we have

(3.6)
$$ds^2 = 2^x - 1.$$

From the first equality in (3.3), we have $X_r = 2(2^{(x-1)/2})^2 + ds^2$, and it is converted into

(3.7)
$$X_r = 2^x + ds^2.$$

Plugging equation (3.6) into (3.7), we obtain $X_r = 2^x + 2^x - 1 = 2 \cdot 2^x - 1$. From (3.5), we easily know $2b_1^2 - 1 = 2 \cdot 2^x - 1$, that is $b_1^2 = 2^x$, which is impossible. Hence $2 \nmid r$.

Since $2 \nmid d$, if $2 \nmid Y$, then $X^2 = 2dY^2 + 1 \equiv 2d + 1 \equiv 3 \pmod{4}$; this is impossible. Hence $2 \mid Y$. Therefore $U = 2^{U_0}U_1$, $2 \nmid U_1$, $U_0 \ge 1$, and so $Y_1 = U = 2^{U_0}U_1$, $Y_2 = 2X_1Y_1 = p^{T_0} \cdot 2^{U_0+1}U_1$. Let r = 2h + 1. Since $Y_1 \mid Y_r$, hence we have

(3.8)
$$Y_{2h+1} = 2X_1Y_{2h} - Y_{2h-1} = 2X_1Y_1\frac{Y_{2h}}{Y_1} - Y_{2h-1} = p^{T_0} \cdot 2^{U_0+1}U_1\frac{Y_{2h}}{Y_1} - Y_{2h-1}$$
$$\equiv -Y_{2h-1} \pmod{2^{U_0+1}}.$$

and

(3.9)
$$Y_{2h+1} \equiv Y_{2h-1} \equiv Y_{2h-3} \equiv \ldots \equiv Y_3 \equiv Y_1 \equiv 2^{U_0} U_1 \equiv 2^{U_0} \pmod{2^{U_0+1}}.$$

Hence, $2^{(x+1)/2}s = Y_{2h+1} \equiv 2^{U_0} \pmod{2^{U_0+1}}$, when $(x+1)/2 > U_0$, $0 \equiv 2^{U_0} \pmod{2^{U_0+1}}$, this is impossible. Therefore, $(x+1)/2 \leq U_0$, and so $x \leq 2U_0 - 1$. Here, $X_{2h+1} = 2^x + ds^2 = 2^{x+1} - 1$. When h = 0, $2^{x+1} - 1 = X_{2h+1} = X_1 = p^{T_0}$, since 2 | (x + 1), hence $(2^{(x+1)/2} + 1)(2^{(x+1)/2} - 1) = p^{T_0}$. Since $(2^{(x+1)/2} + 1, 2^{(x+1)/2} - 1) = 1$, p is an odd prime, hence we have:

(3.10)
$$\begin{cases} 2^{(x+1)/2} + 1 = p^{T_0}, \\ 2^{(x+1)/2} - 1 = 1. \end{cases}$$

From the second equation in (3.10), we have $2^{(x+1)/2} = 2$, and so x = 1. From the first equation in (3.10), we have $p^{T_0} = 3$, and so p = 3, $T_0 = 1$. Here, $y = 2T_0 = 2$, and from (3.1), we have s = d = 1, t = 2, z = dst = 2. Therefore we have the positive integer solution p = 3, x = 1, y = 2, z = 2.

When h > 0, since $x + 1 \leq 2U_0$, $2^{x+1} - 1 = X_{2h+1}$, hence

$$(3.11) \quad 2^{x+1} - 1 = \sum_{t=0}^{h} C_{2h+1}^{2t} (p^{T_0})^{2h+1-2t} 2^{2tU_0} U_1^{2t} (2d)^t \equiv (p^{2h+1})^{T_0} \pmod{2^{2U_0+1}}.$$

Therefore, $-1 \equiv (p^{2h+1})^{T_0} \pmod{2^{x+1}}$, when x > 1, $-1 \equiv (p^{2h+1})^{T_0} \equiv (\pm 3)^{T_0} \equiv \pm 3$, 1 (mod 8), this is impossible. Hence x = 1. Since $p \ge 3$, we have:

$$(3.12) \ 3 = 2^{x+1} - 1 = X_{2h+1} = \sum_{t=0}^{h} C_{2h+1}^{2t} (p^{T_0})^{2h+1-2t} 2^{2tU_0} U_1^{2t} (2d)^t > 3^{T_0} + C_3^2 \ge 6,$$

which is impossible.

Proof of the Theorem 1.2. Since $2 \nmid x, 2 \mid y$, let $(2^x - 1, p^y - 1) = d$, from equation (1.1), we know that simultaneous equation (3.1) is true. Hence the proof methods of Theorem 1.2 with the exception of equations (3.4) and (3.11) are the same as those of Theorem 1.1 following equation (3.1). The proofs for equations (3.4) and (3.11) are given below only when $p \equiv \pm 1 \pmod{8}$.

Since $2 \mid y$, hence let $y = 2^w y_1$, $w \ge 1$, $2 \nmid y_1 > 0$. If $y_1 > 1$, then there exists an odd prime q, such that $q \mid y_1$, and when q = 3, equation (3.4) is converted into $(p^{y/6})^3 + 1 = 2X_h^2$, and from Lemma 2.7, it has only the positive integer solutions $(p^{y/6}, X_h) = (1, 1), (23, 78)$, and since p is an odd prime and $2 \nmid X_h$, this is impossible. When q > 3, equation (3.4) is converted into $(p^{y/2q})^q + 1 = 2X_h^2$. Since $(p^{y/2q}, X_h) \neq (1, 1)$, from Lemma 2.7, we know $2q \mid X_h$, which contradicts $2 \nmid X_h$, hence $y_1 = 1$. Therefore $y = 2^w$. If $w \ge 3$, then equation (3.4) is converted into $(p^{2^{w-3}})^4 - 2X_h^2 = -1$, and from Lemma 2.6, it has only the positive integer solution $p^{2^{w-3}} = 1, X_h = 1$, which contradicts that p is an odd prime. Hence $w \le 2$. Then $y = 2^w = 2, 4$, which contradicts $y \ne 2, 4$.

From the proof of Theorem 1.1, when $p \equiv 1 \pmod{8}$, equation (3.11) is obviously impossible. When $p \equiv -1 \pmod{8}$, that is $p = 2^u v - 1$, $u \ge 3$, $2 \nmid v > 0$, we have $p^2 = (2^u v - 1)^2 \equiv 1 \pmod{2^{u+1}}$, and from equation (3.11), we know $-1 \equiv (p^{2h+1})^{T_0} \pmod{2^{x+1}}$ is true, and when $x \ge u$, $-1 \equiv (p^{2h+1})^{T_0} \equiv p^{T_0} \equiv 1$, $p \equiv 1$, $2^u - 1 \pmod{2^{u+1}}$ are contradictory. Hence $x \le u - 1$. From equation (3.11), we have

$$(3.13) \quad 2^{u} - 1 \ge 2^{x+1} - 1 = \sum_{t=0}^{h} C_{2h+1}^{2t} (p^{T_0})^{2h+1-2t} 2^{2tU_0} U_1^{2t} (2d)^t > (p^{2h+1})^{T_0} > p^2$$
$$= 2^{2u} v^2 - 2^{u+1} v + 1 > 2^{u+1} + 1,$$

which is contradictory. This completes the proof.

Acknowledgements. The author would like to thank the anonymous reviewers for their valuable suggestions.

References

[1]	Z. Cao: On the Diophantine equation $x^{2n} - Dy^2 = 1$. Proc. Am. Math. Soc. 98 (1986), 11–16.	zbl	MR doi
[2]	Z. Cao: Introduction to Diophantine Equations. Harbin Institute of Technology Press,		
[3]	Harbin, 1989. (In Chinese.) J. H. E. Cohn: The Diophantine equation $(a^n - 1)(b^n - 1) = x^2$. Period. Math. Hung.	zbl	MR
	<i>44</i> (2002), 169–175.	$^{\mathrm{zbl}}$	MR doi
[4]	X. Guo: A note on the Diophantine equation $(a^n - 1)(b^n - 1) = x^2$. Period. Math. Hung. 66 (2013), 87–93.	zbl	MR doi
[5]	L. Hajdu, L. Szalay: On the Diophantine equation $(2^n - 1)(6^n - 1) = x^2$ and		
[6]	$(a^n - 1)(a^{kn} - 1) = x^2$. Period. Math. Hung. 40 (2000), 141–145. G. He: A note on the exponential Diophantine equation $(a^m - 1)(b^n - 1) = x^2$. Pure	zbl	MR doi
[U]		$^{\mathrm{zbl}}$	MR
[7]	<i>R. Keskin</i> : A note on the exponential Diophantine equation $(a^n - 1)(b^n - 1) = x^2$. Proc.	-131 i	
[8]	Indian Acad. Sci., Math. Sci. 129 (2019), Article ID 69, 12 pages. J. Luo: On the Diophantine equation $\frac{a^n x^m \pm 1}{a^n x \pm 1} = y^n + 1$. J. Sichuan Univ., Nat. Sci. Ed.	ZDI	MR doi
	36 (1999), 1022–1026. (In Chinese.)	\mathbf{zbl}	MR
[9]	A. Noubissie, A. Togbé: A note on the exponential Diophantine equation $(a^n - 1) \times (b^n - 1) = x^2$. Ann. Math. Inform. 50 (2019), 159–165.	zhl	MR doi
[10]	L. Szalay: On the Diophantine equation $(2^n - 1)(3^n - 1) = x^2$. Publ. Math. 57 (2000),	201	
[11]		zbl	MR
[11]	<i>M. Tang:</i> A note on the exponential Diophantine equation $(a^m - 1)(b^n - 1) = x^2$. J. Math. Res. Expo. 6 (2011), 1064–1066.	zbl	MR doi
[12]	R. W. van der Waall: On the Diophantine equations $x^2 + x + 1 = 3v^2$, $x^3 - 1 = 2y^2$,		
[13]	$x^3 + 1 = 2y^2$. Simon Stevin 46 (1972), 39–51. P. G. Walsh: On Diophantine equations of the form $(x^n - 1)(y^m - 1) = z^2$. Tatra Mt.	zbl	MR
[-~]	Math. Publ. 20 (2000), 87–89.	$^{\mathrm{zbl}}$	MR

[14] P. Yuan, Z. Zhang: On the Diophantine equation $(a^n - 1)(b^n - 1) = x^2$. Publ. Math. 80 (2012), 327–331.

Author's address: Ruizhou Tong, Editorial Department of Journal, Chaoyang Teachers College, No. 966, Section 4, Longshan Street, Shuangta District, Chaoyang, Liaoning 122000, P.R. China, e-mail: 806481866@qq.com.